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(Punjabi Version)

gz () muet O@se-usd 2 odlen B T ferr-a3) g-35 o 4R feg fo-a8) ug-33 053 799 T9H T3/
(i) E3g-uzdt 82 I fow & U3 fax 3 oy 86 fa for fev 2eiem RU3 32 UA 75 w3 3ld gHe™d T5 1
(i) G'3T-Use few wat UsT/ R B35 T gmie % i3 aR YRS/ YRGT ©F HETRE Bd1 a3 Aedr |
(iv) Froga yHa-4a9d g 153 a8 ma 21 yra & 38 a9a" Hgdt |
(v) yBS & 1 €20 Bu-59 T3 n3 T3 yFE B wig @ 31 Ae yEs dgdt 951 BT YHS §7-9S,
| Hdl/ 7183 %3 4§ '3 wWTlds I& |
(vi) YA& .2 315372-2 wa 2 g5 Ry o0 79 YA 99 #egal & I | 9 Yi& 7gal I

- (vii) YES 3. 16 319 3x3-3 War @ I51 BFT ST € YHBT IS9 #ogdt s I 1 AT YRS Agdt 951
(viii) YAZ 3. 20 3 21, 5-5 Wa' & 35| f&& feg negat 82 31
(ix) HUGE IBIABST TTIE & wilam™ I | Bar wat & @g3t i Rael 3 |
(x) VATl 212 fIS I © YIS wadEt ITET @ yHS © wigee I35 | few wEt fan g9n < wfedt few
wardwl 3THT @ YFaT g 9t Adt HiemT Frear

1. 3 fdgr &g ug w3 57 93 mes @ 79y feh -

feg St fomrr 3 fa #leg A5 o falashur rigat 3fdae 2 fen Ao =t filleg
frm § gz & faor wier 3 | 175 @ fsQauinm feud a8 & windfiaw oot itea Jo 0.
& g fer 7 3, 7 Qe w3 fea 39 famm 2 wieGiotasn § w2 92 O5 et § Qe
AT o e 3 1 o Wt 3o 132 famet @ 9% T, Shwrartarete fsQaeta Mg (33558,
w3 TEN fsGasia s (e X5 2.)| faQauia #firs fsfasiaterdtst & 8 37 tehig J2
5, fen B¢t 8g° § TofsBauiGerets & fagr wiwr 3 | w2, wi fs s @ 32 95 wrd
99 - TG T Tb | IR wE s FnF 2 JR . w3 Q0 -2 Taw a9 x|
- 85" § ARAG WEATEE. (MH-WARB.R.), TEEIHS WIABR. (Wa-wa A52) w3
oIHed MM 8.8, (F-wa a8, aF afenr gar |

() FAGE A3 A BE, T yT 5 e |
(i) RNA faat fam’ & Jer 3 2
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(i) »s<iHasT Bet de fifheg 9 7 1

(iv) wia=fEasT 3 ufgerfng od | 1
(v) faBa@ta mfrs faat famui @ I8 I8 2 1
AJt /B3
(vi) CO,Cl1 %8 203 Haga w13 3 | 1
(vii) et wados st feaed Mg 2Re fe e Sfenr da g sleT e 1
(viii) i Az s digh 3 Yz dtgrAeT J | 1
(ix) Hes T et g B R, oW 5T J | 1
(x) Ni(CO), seRarsfes 3 | | " 1
97-3T YHS
(xi) MESAS AfgazT & feae I3 | 1
(8) K kg mol ! (1) mol kg K~
() kg mol~1 K1 (A) K mol kg'l
(xii) FETEEaws fog fam €t afdar offtdt i<t 9 | 1
() Cr (™) Cu
() Zn (A) Pb
(xiii) ufgsT eaar yFifafon &b feare™ T35 | | 1
(8) s~ (") s
(8) mol L-! (¥) L-ls
(xIV)WWM%ﬂmm%ﬂBmm?ﬂBWﬁﬁﬁ?ﬁv 1
(8) 0.540 % (w) 0.459
(®) 0.500 _ (W) 0.300
(xv) foeam GRitfRR e fow ot e Tt faders e fxm o wareh ek 3 2 1
(8) Ruda wrtes (o) Qe BElRe
(®) vaafsx nrfeGafes (R) Feae
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(xvi) I35 fafimit feg DDT &t & 2

(®) ure (w) TfeSElETE ygra
() f-wfetdpes ygrm (W) 3fts W dw

(xvii) 5 fafm feg, A9 3 Hae3 ARz 3|
(®) CH,CH,COOH (») CH,COOH
(g) C¢H;COOH (W) C,H.CH,COOH

(xviii) Q‘a‘lﬁaﬁfhaumm H‘Bmﬁbﬁm '3 IO O |
(8) eeiEls () fHevis-g415
e (®) 15 (7) Fets weas

(xix) Vinger €' U3% WS T |

(8) dtwsfea wfns (n) Hifea Afes
(8) wetfea AfFs (W) wranfss wins
(xx) [Fe (CN)] 2 f<9 Fe Tt »raiiaqas nizrer |
(8) +3 (%) +2
() +4 (H) ~§
e o T8 YES
2. 233 sHa w3 Qu-wfa Atvs wiea few 2 w3 o |
3. WEEee fudiz § ufgefas ad wis Gegee ol |
g, foa vz T8 wEdgs v Quse fig J8sds 778 203 a8 dur d 2
AT
JHT propan-1-ol fi propan-2-0l feg fa< we@dr 7
5. JuaH3 yIifafon € T95¢ ad ?
A
I83 FrgETelatea WA Ut {29 U3 WEIHIB J¢ I6 | F96E d4 |
6. IHT MEIEYE T a@IEAS faw Y3 F99 7
7.  =ass a3 f’ frEteiels witEyT 578 209 HAgS ¥E fad J 2
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8. DNA %3 RNA feg @ ni3g o0 ?

9. WEgH M3 AF-»EIH WS feg nizag ¥R 7

10, 0.1 788 750 WE 7 f 100.052°C '3 §°¥s 7w 3, €F yer9e few wdt € Aus Qe AlegT e 2
qEET A9 |
Cy
wafnargsﬁa(cbﬁuoﬁ)ﬁafaaﬂn—ﬁzfeafeafa@wz’tfeamsfé‘?n@ﬂ|1.013313% 2
gEm '3 Ut ffs Iuns '3 QBT 7 U@ Be K, 0.52K kg mol ! T |

11. dsfea A5 w3 feBadwelica A3 feg @ vi3a &R 2 -
12. 90 I[H H,0 T W3a" Auds wakleds oot s gde famst & 83 Jet 9 2 2
13.  yZfafonr S 3¢ w3 nizfeasr-3d fegarg @ wigs fef | 2

14. foa yan a2t ySfafonr et Ta wfag wid 60 sec =1 3, fon yEifafonr § it yofsa dusgrer 2
1710 371 3fg 772 feg fdar A Sdar | |

hwﬁ@ﬁﬁwwﬁmma;aﬁ.qﬁﬁhsm-lir 2
15. Zr »3 Hf fed fadhor fermaet faf” yeafis a9e 75 2 2
f3z »fa @ A8 |
16. ufodt Taw < yIifafonr @ & fagret sies <t aeer a9, fan feg K=5.48x10"M4s~! J | 3
17, Jfewdt, Razdt w3 Zanat wadas & ot 9fd3q & 3887 &9 | 3
mmmm@ﬁ;m@mam . 3
18. WEEHEN 578 WalEts we uwat fa§ & 2 e : 3

19. CaCl, & FEg I8a3" /, u3T a9 7¢ fa \(Ca*?) & wrfesa 83" =11955 cm?mol ~1 w3 3
MCI™) Tt nrfema I78a3™ =763 S cm2 mol ~ 19 |

w
Is fod 773 <t 298K '3 faaean mitage fsdt w3 O & emf U3 AT | 3

Fe(s) [Fe?* (0.001M) |[H* (1M) H,(1atm)|Pt.
fagr famr 3 . EuF:z lFe = =044V
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¥a »fa @ Aes

20. yJHfafanr fod T 1414141+41=5
(i) <aea-fefdar yFtfafonr

T

(€) (SN?) (2 ni2t faQasin nadt YFmarus) »3 (SN!) (fea wiesdt faGastwm Aadt
ITHER) YIifafon feg 379 ni3g fad 4+1=5

21. 37 =< fod
G Berfegs w3 waAsfes feg fix nizg 37 7 342=5

(") @R fa Cu*? Fafts fa Jer I aefa znt? Jowte fa@ Jev 9 2
W

(8) ufgeaas ur3' 39 w3 e fige wa ' dnf 95 | iHe'G | 2+3=5

(») Fe'?, Zn*? w3 Mn*? feu fds wend fe8ads Wige 05 2
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(Hindi Version)

(1) Wﬂﬁ?aﬁ?—gﬁﬁmﬁwwwwm/ﬂwaﬁ?mﬁ&ﬂﬁmmf@ #12
053 37T 7@ |

(11) m—gfﬁwéﬁﬁmwmé@ﬁﬁmwwmu Wgwﬁﬁﬁﬁ?f

(it wmﬂwg@mw/wa:wmmwm/wwwﬁmmf

(iv) A g7 vF 4 fou T @ 21 WA #) g F At 8

(v) T G 1% 20 39-97 & 578 § §AF 1 3% 37 &1 gy v F1 g1 7t 81 78 9
Tg-faF ey, Ge/Terd 3 AT W S &

(vi) ¥¥ G&W2 T15 ¥ yeq yeiE 3 2t oiF @7 &1 5 @ TR g9 § sl fa#cd T e
Tt gvT Afard g1

(vii) T G@I16 T19 7 T2 g 797 @7 5% 1 &1 370 4 3 g 4 HaF [@FeY 190
&1 gyt gv7 sifard &

(viii) TV G@ 20 & 21 7 YT FIF ¥ Qe HF & & 79 579 Al fawed il 5T T &

(ix) m~ﬁ3?=i%cg=o?df%m#éﬂﬁﬁﬁwm—mwmmwm?f

(x) gare ge fet urw 7 7t sy % & 7enef sgaiea 97 e T &1 3 oty # et
o 37 e @ F99 F1 & & G Ao

1. fefefes Suie i afe i e fau gt & o it

7E <@ T & fob ue Sifaa siferer 1 wfues sfafifea auif & 3@ g=rw & fou R €, 99
HATATeIhe I @l ST & | e & e § yafimpa o o Iverdt Sl 1 oA Fed & | 50
FIEH AR 371 TR % S 0 | o 2 €, 9 gfereren ot el T B 1 A g S W & B
g, O ARREAE o (FwAN) R TwErfEE o (IREn) | dfs Jfees ufae
AIFTATES H Tt st qier €, safer 3% Wefl-ffeereTse @t % 9w 81 AR 3 9
THR & T4 § 3R A faf el F €1 3% S AR (- AR UA.T), TesEe ST
(AR-IRTA.Y) AR TER ALY (S-FREAY) F &9 F ifega fopan 77 3

() SR AT F QAW fad )
(i)  HARTAY foreH YR F 2 € 2

e

(i) A ¥ o w A R 2 1
(iv)  AaEfsal o1 gRfya &) 1
(v)  fFas o e TR F B E 7 1
(vi) CO,Cl~" % g ¥ Awee ferifs &1 1
(vii) el Steheet 3 feru, foret o v & Senfen < ey e 2w & 1
(vi) I T o =ifed @ wra fan s 2

(i) ~ THIZF $1 IUPAC 91 =129M £ 2 1
(x)  Ni(CO), Yagasg & ;
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(xi) TEErETE (T # gwral € - 1
(%) Kkgmol™! (@) mol kg K~
(1) kgmol™ K~ (9) Kmol kg™!
(xii) Tresteo ¥ fouh Fif i s 2 ? 1
(&) Cr (@) Cu (71) Zn (9) Pb
(xiii) WuH T HARAT i THEAI - 1
(%) s~ (@) s (M) mol L} (9) L~ 's
(xiv) FoIHH BRI 30% et A ToreREe i F A 1 vy e g 8 ? 1
(F) 0.540 (€@) 0.459 () 0.500 (%) 0.300
(xv) mmmﬁmﬁmmww'mmmmm 1
(&) Vogelsl TEHEH (@) urefigy A5
(1) WHEH ANEES (9) =
i) e § GEA v b2 !
(F) Tdi® :

(@) g fr=ieEiy WguF

(%) i 738 A

(xvii) Trefafad d, Fed 2SR 3T 2 1
(%) CH,CH,COOH (@) CH,COOH
(M) CgHsCOOH (9) CHs;CH,COOH

(xviii) it ufeE LIAIH, ¥ @ s 01 R & ¥ 1
(%) g (@) frasa dsiA
(m) fEa (9) aA<Rd Tewhied

(xix) FR _ #1 @ Teid =it € :
(%) TdAEH A= (@) d9igH I
(1) HEfgE T (%) aifFafe 3

(xx) [Fe (CN)G]':" Y Fe &l IR0 HTET ¢ | 1
(F) +3 (@) +2 (M) +4 _ (q4) =3
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& 3 T T

) e T o 99w e i ¥ & s fer

3 BRE faite # ot # iR TR < 2
4. @ﬁmwﬁmmaﬁmﬁﬁr@nﬁwﬁMﬁm%? 2
quan

379 WR-1-30 W23 H S weel ? 2
5. 2

Frad FETERfETS o1t ol H Sefus Yo B €, 9o FU | 2
6.  ad ATl & TR FY TG HIA 2 2
7. FOEY fh faeeeHi, sriE & e yad R i 2
g, S TAU AR ARTAY F o4 ) A for@ | 2
9. Ry i -yt o o S & SR >

10. 01 Hem Flg 19rd 5 15 100.052°C W 3ot A1 ¢, 39 9 ¥ U F A0S SR s s e 2
FL

A9 T Foem ? THT o6 fera K, 0.52K kg mol ~! %1
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11.

12.

13.

14.

15.

e de1 sl seisgiomsfess 4 2 sjet ot " -

90 T H,0 & Y0 Hiefiartv & foru fre srera faso #) anavashal 2t & 2 R 2

wiafsran &t Hife R snfvaerar-#ifz ¥ 9 @ sim o) 2

W 1 ifshar & A fer R 60 sec =1} 1 3w vfefr i wigm R oo% /104 RrR T @I 2
¥ foen g @ 2

16.

17.

18.

19.

3reraT
et A i Sfdfshan & 39 Sfta F1e &1 T FY, FaF K=8min-! ¥ 2
zrdhmﬁwﬁmﬁmﬁhm%? 2
Teai! gfafedr & 2 faer siteq =t oA &L, foas K=548x10"4s-1 & | 3
gt fgdias 3R Jas Towied & I T&0 H ol i | 3
argar
fratar & foe I 2gis sifufsman +it =aren +3 3
el #71 AR g tefiomEd 9 fre aratg, &9 da1 v 2 3

CaCl, Ft TR Sl An T F{ W& M(Ca*2) F1 FAHF ToFA=1195 Scm? mol -1 3l 3
A(C1~) F fe Al =76.3 S cm? mol ~! 1

HAYar

i @ Te # 298K W Frevean geite fafay ot 30t e f 91 | 3
Fe(s) |[Fe*2 (0.001M) |[H* (1M) H,(latm)|Pt.

femmd : B t? e = —044V
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1+1+1+141=5

HAAT

(F) UHIvgs T gfaergd (SN1) AR fgemes Tifveedt wfozars sfvufean (SN2) o
4 R @ 4+1=5

(@) gy frarearg ot gitfaa sifag |

21. Frafafes +1 5w fod -
(F) d2FTe R aAes 4 6 @ foran | 342=5

(@) TTe AT R Cu 2T T R ¥, T Zn+2 T T O ¥

H4di

2+3=5

(&) Fau vl 1= uigsi & e fafya oig s € awemed
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(English Version)

Note : (i) You must write the subject-code/paper-code 053 in the box provided on the title page of wors
answer-book.
()  Make sure that the answer-book contains 32 pages (including title page) and are properly
_ senialled as soon as you receive it.
(’_”) Question /s attempted after leaving blank page/s in the answer-hook would not be cval uated.
(tv) There will be one theory paper comprising of 21 questions. All questions are compulsory
(v) Question Nos. 1 will have 20 Sub-parts and each part will carry 1 mark. All questions are
| compulsory. This question will be of multiple choice, true/false and comprehensive
(vi)  Question Nos. 2 to 15 will be of two marks each. There will be internal choice in four questions.
All questions are compulsory .
(vit) Question Nos. 16 to 19 will be of three marks each. There will be imternal choice in two
 questions. All questions are compulsory
(viti) Question Nos. 20 and 21 will be of five marks each. There will be internal chorce in them.
(ix) Use of un-programmabie calculator is allowed. The log tables can be used.
(x)  Punjabi and Hindi Versions of questions are true translation of English Version. 5o tn the
case of any confusion consider English Version to be Correct.

1. Read the following paragraph and answer the questions given below :

It has been observed that nucleus of a living cell is responsible for this transmission of
inherent characters, also called heredity. The particles in the nucleus of cell, responsible for
heredity, are called chromosomes which are made up of proteins and another type of
biomolecules called nucleic acids. These are mainly of two types, the deoxyribonucleic acids
(DNA) and ribonucleic acid (RNA). Since nucleic acids are long chain polymers of nucleotides,
so they are also called polynucleotides. RNA molecules are of three types and they perform
different functions. They are named as messenger RNA (m-RNA), ribosomal RNA (r-RNA)

and transfer RNA (t -RNA).

(i) Give full form of DNA and RNA. 1
(11) How many types of RNA are there ? 1
(i) ~ Who is responsible for heredity ? | ;
(iv)  Define heredity. '
(v)  How many types of nucleic acids are there ? 4
True / False
(vij  CO is stronger ligand than C1~ L ;
(vii) The colour produced in Victor Meyer test for primary alcohol is deep blue. 1
(vili) Formic acid is obtained from red ants. '
IASS ! [Turn over
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(1x)
(x)

[JUPAC name of Acetone i1s Butanone.

Ni (CO), is diamagnetic. CEHRIGY

-l
. |

Multiple choice questions.

(xi)

(x1i)

(x1v)

(xv)

(xv1)

(xwvil)

(xvin)

(x1x)

(xx)

053/A-SS

The units of ebulloscopic constant is :
(a) Kkgmol~! (b) mol kg K~/
() kgmol 'K™? (d) K mol kg™

Galvanisation is applying a coating of :
(a) Cr (b) Cu (c) Zn (d)

The units of first order reaction :
(a) s~ (b) s (c) mol L] (d)

Pb

L-ks

What is the mole fraction of benzene in solution containing 30% by mass in carbon 1

tetrachloride ?

(a) 0.540 (b) 0.459 (c) 0.500 (d)
The porous membrane used in reverse osmosis plant is made up by :
(a) Cellulose acetone (b) Potassium nitrate

(¢) Mercuric iodide (d) Starch

What is DDT among, the following :
(a) Fertilizer.

(b) Biodegradable pollutant.

(c) Non-Biodegradable pollutant.
(d) Green House gas.

In the following, strongest Acid is :

(a) CH,CH,COOH (b) CII;COOH

(¢) CHsCOOH (d) CH;CH,COOH
Benzioc Acid reacts with LiAlH, to give :

(a) Ethylene (b) Methyl Benzene

(c) Phenol (d) Benzyl Alcohol
Vinegar is dilute aqeous solution of :

(a) Ethanoic acid. (b) Benzoic acid. @ e
(c) Citric acid. (d) Onxalic acid.  Se¥N

N

Fus

The oxidation state of Fe in [Fe (CN)] ™ :
(a) +3 (b) +2 (c) +4 (d)

12

0.300
1
1/
1
1
1
1 i
"
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Two Mark Questions

2. Write two differences between double salt and co-ordination compounds. 2

3. Define monodentate ligands and give example. -

4. Why do alcohols have higher boiling point than haloalkanes of the same molecular mass ? 2
OR

How will you convert propan-1-ol to propan-2-ol ? -

5.  Describe Rusenmund reduction. 2
OR

Lower carbocyclic acids are highly soluble in water. Explain. <

6. How will you obtain chlorobenzene from aniline ? 2

7. Explain why methylamine is a stronger base than Ammonia ? 2

/ .

. 8. Give two differences between DNA and RNA. 2
9.  Give two differences’between ideal and non-ideal solution. 2
10.  Calculate the molal elevation constant of water, it being given that 0.1 molal aqueous solution 2

of a substance boils at 100.052°C. https://www.punjabboardonline.com
OR
18 gm of glucose (CgH,,O;) is dissolved in 1 kg of water in a saucepan. At what temperature 2
will the water boil at 1.013 bar pressure ? K, for water is 0.52K kg mol 1.
11. Give two differences between Galvanic Cell and F ectrolytic cell. -i'f':-' y)
g
12. How many Coulombs of electricity are required for complete oxidation of 90 gm of H,O ? 2
13. Give two differences between order of reaction and molecularity of reaction, 2
053/A-SS 13
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: = . e will it take to reduce 7
14. The rate constant for a first order reaction is 60 sec~1. How much tm

" - N w "
the concentration of the reaction to 1/10% of its initial value -
OR

| | ey e -
Calculate the half-life time of a first order reaction having K =8min~ .
2
15. Why do Zr and Hf exhibit similar properties ?
Three mark Questions.
. -4, -1 3
16. Calculate the two third life of a first reaction having K=548x10""s "
17.  Compare the acidic character of Primary, Secondary and Tertiary alcohol. 3
OR
Explain Reimer Tiemann reaction of Phenols, 3
18. Why is aniline less basic than ethylamine ? 3

19.  Calculate the molar conductance Ay for CaCl, given that A(Ca*2)=1195 Scm? mol~1, 3
AMCl7)=763 S cm? mol L, -
OR

Write the Nearest equation and calculate the e.m.f of the following cell at 298K. 3
Fe(s) [Fe* (0.001M) |[H* (1M) H,(1atm) Pt. |

Given EDFE+2 fe = —044V

5 marks Answer type questions.
20. Write the reaction : 141+1+1+1=5
(1) Wurtz-fitting reaction
(i) Ullmann reaction

A (i) Gattermann reaction

. (iv) Hunsdiecker reaction
-

.[v) Balz-Schiemann reaction

053/A-SS . y
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(@) Write f::llm differences between SN2 (substitution nucleophilic biomolecular reaction)
and SN' (substitution nucleophilic unimolecular reaction). 4+1=5

=

(b)  Define Optical activity. X

21, Write the following :
(@) Give three differences between Lanthanoids and Actinoids. 3+2=5

(b)  Explain why Cu*2 salts are coloured while Zn*2 salts are colourless ?
OR |
(@)  Transition metals form alloys with other metals. Explain. 2+3=5

(b)  How many unpaired electrons are present in Fe*3, Zn+2 and Mn*2 ?

-000-

053/A-SS 15

(3 scanned with OKEN Scanner



